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NEW QUESTION 1
You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the 10.10.10.0/24 network. Which command would
you use to test connectivity between vr3 and Server 2?

A. user@vr3> ping 10.0.0.2 count 5
B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1
C. user9router1> ping 10.0.0.2 count 5
D. user@router1> ping 10.0.0.2 routing-instance vr3 count 5

Answer: C

NEW QUESTION 2
How does a Junos device learn about MAC addresses when II is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and stores this information In addition lo the
interface from which the response was received.
B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.
C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.
D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and stores this Information in addition to the
interface from which the response was received.

Answer: D

NEW QUESTION 3
What Is a key differentiator of generate routes from aggregate routes?

A. Generate routes use a forwarding next hop.
B. Generate routes have a default next-hop value of reject.
C. Generate routes have a default preference value of 210.
D. Generate routes cannot be used as a gateway of last resort.

Answer: C

NEW QUESTION 4
Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)

A. The OSPF Interfaces are configured as point-to-point.
B. The ge-0/0'1.0 Interface is configured as passive.
C. The R2 device is an ABR.
D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

Answer: BD

NEW QUESTION 5
Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)

A. By default, the next-hop value is changed across IBGP links.
B. By default, the next-hop value is changed across EBGP links.
C. By default, the next-hop value is not changed across IBGP links.
D. By default, the next-hop value is not changed across EBGP links.

Answer: A

NEW QUESTION 6
Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)

A. Type 1
B. Type 3
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C. Type 5
D. Type 7

Answer: CD

NEW QUESTION 7
Which two statements are correct when using LDP? (Choose two.)

A. The lnet.3 table will contain only the paths explicitly defined.
B. The inet.3 table will contain a full mesh of label-switched paths to other LDP-enabled routers.
C. LDP label-switched paths are created by configuring LDP on at least one physical router interface.
D. LDP label-switched paths are created by configuring LDP on the loopbacK Interface.

Answer: BC

NEW QUESTION 8
Exhibit

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.
B. Both routers are in the same state because they have the same VRRP priority.
C. RRP Is functioning normally in active/active mode.
D. The routers should use different virtual IP addresses for VRRP to function correctly.

Answer: D

NEW QUESTION 9
What are three types of MPLS routers? (Choose three.)

A. transit routers
B. peering routers
C. egress routers
D. aggregation routers
E. ingress routers

Answer: ACE

NEW QUESTION 10
Which LSA type does an OSPF ABR use to advertise external routes generated by an NSSAASBR into the backbone?

A. Type 5
B. Type 7
C. Type 3
D. Type 1

Answer: C

NEW QUESTION 10
The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)

A. The first usable label is 10,001.
B. The last usable label is 10.501.
C. The last usable label is 10,499.
D. The first usable label Is 10,000.

Answer: CD
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NEW QUESTION 15
Exhibit

You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure that MPLS labels are used
to forward traffic by all devices within the LSP.
Which action will accomplish this behavior?

A. Configure the ultimace-hop-popping statement under the R1_TO_R5 label switched path on R1.
B. Configure the explicit-null statement under the protocol mpls hierarchy on R1.
C. Delete the no-espf statement under the R1_TO_R5 label switched path on R1.
D. Configure the install statement under the R1_TO_R5 label switched path on R1.

Answer: D

NEW QUESTION 17
Exhibit

Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario?

A. R1 does not have a route to 192.168.200.2.
B. R1 and R2 must each have unique AS numbers.
C. R1 needs to be configured with an explicit router ID.
D. R1 needs to be configured with a next-hop self policy.

Answer: A

NEW QUESTION 19
Exhibit
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You confirm that the R2 and R3 routers are receiving a BGP route to the 203.0.113.0/24 network, but both routers display the route as hidden. Referring to the
exhibit, which two actions solve this problem? (Choose two.)

A. Apply the routing policy on R1 as an export policy to the IBGP group.
B. Apply the touting policy on R1 as an Import policy to the IBGP group.
C. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for IBGP peering.
D. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for EBGP peering.

Answer: CD

NEW QUESTION 22
Exhibit

Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?

A. 1
B. 2
C. 8
D. 4

Answer: C

NEW QUESTION 26
Exhibit

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)

A. You should configure the max period for NSR precision timers.
B. You must configure GRES.
C. You must configure graceful restart.
D. You should configure commit synchronization.

Answer: AB

NEW QUESTION 29
Exhibit

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM JN0-363 Dumps From Exambible
https://www.exambible.com/JN0-363-exam/ (65 Q&As)

You configured interface ge-0/070.0 to run IS-IS. but this interface does not appear in the output of the show isis adjacency command as shown in the exhibit.
What is the problem in this scenario?

A. This is a Gigabit Ethernet interface, that is incompatible with the reference-bandwidth 100g statement.
B. The family iso statement must be added to the logical interface.
C. The router at the other end of the link Is not sending any IS-IS Hello messages.
D. The router at the other end of the link is a Level 1 only router.

Answer: B

NEW QUESTION 34
Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter
B. no-readvertise
C. qualified-next-hop
D. passive

Answer: B

NEW QUESTION 36
Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)

A. The community attribute is a mandatory BGP attribute.
B. If the community attribute is present, it is ignored and deleted in the BGP updates.
C. If the community attribute is present, it should be passed unchanged in the BGP updates.
D. The community attribute is an optional BGP attribute.

Answer: AC

NEW QUESTION 41
Exhibit
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Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?
(Choose two.)

A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the lnet.3 table.
C. R1 will perform a lookup using the mpls.0 table.
D. R2 will perform a lookup using the inet.3 table.

Answer: A

NEW QUESTION 46
Exhibit

The exhibit shows a topology with 1 Gbps interfaces between routers, and four RSVP LSPs operating with the respective bandwidth reservations.
Which path will be selected for a new LSP from R4 to R6 with a bandwidth reservation of 400 Mbps?

A. R4 -> R1 -> R2 -> R5 -> R6
B. R4 -> R5 -> R6
C. R4 -> R5 -> R2 -> R3 -> R6
D. R4 -> R1 -> R2 -> R3 -> R6

Answer: A

NEW QUESTION 49
Exhibit.

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM JN0-363 Dumps From Exambible
https://www.exambible.com/JN0-363-exam/ (65 Q&As)

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when
you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.
B. Verify that you have configured a policy on the device to accept aggregate routes.
C. Verify that you have defined a metric value for the aggregate route.
D. Verify that you have set the preference to a lower default value.

Answer: D

NEW QUESTION 53
Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Prefixes in Level 1 will be redistributed to Level 2.
B. Prefixes In Level 2 will be not redistributed to Level 1.
C. Prefixes in Level 2 will be redistributed to Level 1.
D. Prefixes in Level 1 will not be redistributed to Level 2.

Answer: C

NEW QUESTION 55
Which two statements are correct about IS-IS? (Choose two.)

A. A level 1 only router can never form an adjacency with a level 2 only router.
B. For level 2 adjacencies, the area IDs can be different.
C. For level 2 adjacencies, the area IDs must be the same.
D. A level 1 only router can form an adjacency with a level 2 only router.

Answer: CD

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM JN0-363 Dumps From Exambible
https://www.exambible.com/JN0-363-exam/ (65 Q&As)

NEW QUESTION 56
Exhibit

You are asked to assign interface xe-1/0/5 to a virtual switch. What must be accomplished to complete the configuration?

A. Interface xe-1/0/5 must be added to routing-instance sw-1 vlan_2.
B. Interface xe-1/0'5 must be a trunk port.
C. Interface xe-1/0/5 must be added to routing-instance sw-1.
D. An IRB interface must be configured to routing-instance sw-1 vlan_2.

Answer: C

NEW QUESTION 60
You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose
two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.
C. Traffic engineering extensions are not enabled by default in OSPF.
D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 65
......
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